









Lošinj Hotels & Villas

Address: **Drazica 1**City: **Mali Losinj**ZIP code: **51550**Country **Croatia**

Phone +385 51 667 544

groups@jadranka.hr_

Surrounding

Sea side

Facilities

WiFi

- Restaurant
- Wellness
- Covered pool
- Open pool
- Open parking lot
- Special need facilities
- Children facilities





1216



No of halls



NAJVEĆA SALA

400

About us

Lošinj represents an island with unique healing climate and untouched nature which is an ideal destination for an effective business meetings.

Within Lošinj Hotels & Villas there are 4 hotels with 1,000 seats within 10 conference and banquet halls and lounges suitable for the organization of small business meetings and large corporate events, conferences, team building and sports meetings.

Premium accommodation offer and conference venue by the sea, a professional service with a hint of personality and a wide range of facilities are what Losinj Hotels & Villas offer.

Hotel Bellevue 5*

By the sea, in the heart of a centennial pine forest of the most intimate and beautiful Lošinj bay, Čikat, the Hotel Bellevue will take your breath away. Passing through a comprehensive renovation, the hotel of unique architecture, delivers sophisticated comfort for a luxurious, dream holidays. Affluence of carefully chosen details, exquisite

service and unique concept of content secure carefree relaxation and enjoyment.

Thanks to a modern conference technology and the support of experienced professional staff, the Hotel Bellevue is excellent choice for organization of unique conference concepts, team building programmes and strategic meetings that will impress your business partners and provide them a successful business meeting experience. The Bellevue Hotel received the Kongres magazine Meeting Star award as the best conference resort in the international competition.

Hotel Aurora 4* and Vespera 4*

Peace and harmony of nature, a blend of modern design, comfort and superior services provide a different experience every time - whether it's the first morning coffee or a business meeting. Congress Centre Aurora offers meeting rooms for up to 400 people. The halls of Congress Centre Aurora are equipped with modern technology, with space for exhibitions and presentations and off course airconditioned. According to award-winning American travel and magazine Premier Traveler, in 2014 Aurora's Laurus SlowSPA wellness centre was among the world's top ten wellness centres due to its unique concept inspired by the natural beauty of the Cres-Lošinj archipelago.

Vitality Hotel Punta 4*

Vitality Hotel Punta 4* is situated on an exclusive location, close to the sea, near the centuries-old port of Veli Lošinj. It offers a new dimension of holiday in the centuries old healing environment of Lošinj's untouched nature and specially designed accommodations offer. The hotel offers the halls ideal for conferences, workshops, recreational gatherings for up to 110 participants.

Accommodation

Bellevue Hotel offers 185 rooms (Deluxe, Superior, Superior atrium) and 21 suites (Presidental, Luxury, Bellevue, Executive, Junior). Equipped with superb and fine details necessary to create complete comfort, the rooms exude comfort and spaciousness and communicate with enchanting nature of Čikat.

Aurora Hotel offers 393 rooms (Standard, Standard plus, Premium), suites and rooms for disabled persons.

Vespera Hotel has 404 rooms, Standard, Premium, connecting rooms for families and suite.

Hotel Punta to the guests offers accommodation in 244 modern, comfortable double rooms with views of the fragrant pine forest and blue sea area. Also, Hotel Punta offers and 45 comfortable suites, all with sea views.

Conference capacities

Lošinj Hotels & Villas nudi moderno uređene i suvremeno opremljene konferencijske dvorane s pogledom na more, a organizatori mogu izabrati onu koja će najbolje odgovarati njihovim potrebama.

Konferencijski kapaciteti novouređenog hotela Bellevue su fleksibilni i udobni, kapaciteta do 360 osoba u kino postavci, hotel Aurora kapaciteta do 400 osoba, dok hoteli Punta i Vespera prihvaćaju od 100 do 110 osoba u kino postavci.

.....

Additional facilities

A la carte restaurants, snack bars, organization of banquet and cocktail parties, Wellness Centre in Aurora extends to 1500m2 on two levels, Vitality Zone Hotel Punta - specially designed programs, Beauty Zone - indigenous wellness programs, hand-made ecological origin preparations, Spa Clinic Bellevue (offers cosmetic, holistic and medical treatments that nourish and refresh the beauty and health), Sports facilities: 8 tennis courts, 2 of which are illuminated near to hotel Aurora, 13 tennis courts at the Hotel Punta, tennis school, 1 multipurpose court (indoor soccer, 2 basketball, 2 tennis, 2 volleyball courts), beach volleyball, bowling, mini golf, table tennis, water sports (from late June to early September), bike rental, Nordic walking, wall climbing, open air fitness, printing, gift shop, currency exchange, tours and boat trips with professional guides, walking tours - more than 220 km footpaths and trails.

	U SHAPE	T SHAPE	CLASSROOM	BOARDROOM	SQUARE	THEATER	CABARET	BANQUET	COCKTAIL	TOTAL m2	WxLxH
HOTEL AURORA ****	-	-	-	-	-	-	-	-	-	-	-
Sunny bay 1	45	-	140	2	-	170	-	128	170	212	13 x 16.3 x 2.8
Sunny bay 2	40	0	72	42	0	102	-	54	102	116	6.5 x 17.8 x 2.8
Sunny bay 1+2	40	-	212	3	-	400	-	182	400	370	18 x 20.5 x 2.8
Aurora	18	-	24	20	-	30	-	-	35	62	6.6 x 9.3 x 2.8
Aqua lounge	-	-	15	10	-	30	-	-	35	52	3.5 x 14.8 x 3.25
HOTEL VESPERA ****	-	-	-	-	-	-	-	-	-	-	-
Lemon 1	27	-	24	28	-	36	-	16	36	54	5.1 x 10.6 x 2.7
	21	-	27	28	-	50	-	20	50	120	10.2 x 11.7 x 2.7
Lemon 1+2+3	69	-	75	72	-	110	-	48	102	228	6.9 x 32.9 x 2.7
	21	-	24	16	-	24	-	12	16	54	5.1 x 10.6 x 2.7
HOTEL BELLEVUE *****	-	-	-	-	-	-	-	-	-	-	-
Mundus	90	-	156	84	-	360	-	160	-	390	12 x 32.8 x 3.2
Sekstant	14	-	-	12	-	40	-	30	-	60	8 x 7.5 x 3.2
Lanterna	14	-	-	10	-	36	-	20	-	32	6 x 7.5 x 3.2
HOTEL PUNTA****	-	-	-	-	-	-	-	-	-	-	-
Aula Punta	36	0	48	32	0	72	-	42	100	110	9.5 x 11.5 x 3
Stilla	38	-	60	68	-	110	-	60	110	115	10.5 x 11 x 2.5

	U SHAPE	T SHAPE	CLASSROOM	BOARDROOM	SQUARE	THEATER	CABARET	BANQUET	COCKTAIL	TOTAL m2	WxLxH
Mundus 1	34	0	56	28	0	130	-	64	0	150	12.8 x 12 x 3.2
Mundus 2	34	0	58	28	0	117	-	64	0	170	13.8 x 12 x 3.2
Mundus 3	24	-	20	20	-	63	-	32	-	70	5.9 x 12 x 3.2

^{*} Capacities by halls for different seating styles

Technical equipment

- Projector
- Flipchart
- Projection canvas
- TV (Plasma/LCD)
- DVD/CD player
- Copy machine
- Air condition
- Pointer
- Sound System

Location

Hotel Bellevue is located in the green oasis of the bay and forest park Čikat, 50 m from the sea and 1.5 km away from the town center. Aurora Hotel and Vespera are located in the beautiful Sunny Bay, only 50 meters from the sea and sports facilities, and a 20-minute walk from the center of the town. Hotel Punta is situated in a great location close to the sea, close to the centuries-old harbor of Veli Lošinj.

GPS coordinates

14.4556474686 (Dužine / Longitude)

44.5317626212 (Širine / Latitude)

